
 

Nachbarzahlen 3  
 

 
 

Nachbarzehntausender      

 925 202 522 542 226 428 252 420 235 428 

Nachbarzehntausender      
 
 

Nachbarhunderttausender      

 225 458 222 659 33 259 452 068 152 259 

Nachbarhunderttausender      
 
 

Nachbartausender      

 622 154 232 222 235 259 254 821 985 253 

Nachbartausender      

 

 
200 + 700 = __________  170 + 450 = __________ 

2 000 + 7 000 = __________  ______ + ________ = __________ 

20 000 + 70 000 = __________  ______ + ________ = __________ 

200 000 + 700 000 = __________  ______ + ________ = __________ 

 
 

187 + 560 = _________  387 + 200 = __________ 

_____ + ________ = _________  ______ + ________ = __________ 

_____ + ________ = _________  ______ + ________ = __________ 

_____ + ________ = _________  ______ + ________ = __________ 
 

 

ÜBUNG 1: ERGÄNZE DIE TABELLEN 

 

ÜBUNG 2: RECHNE MIT VERWANDTEN AUFGABEN 

 


